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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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QL.

Q2.

Q3.

Q4.

Q5.

Q6.

“ard ° smyfes HET A waifuE AEEU Ty FEtE =@ gRT iRl
qHEe 1 diagrie @ |7 gETa are fafte f gemar @ 3@ sy f e
HIfre | (150 wreei & IR o)

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“ard & Ul & ¥ e i o foew e 1 eI Ew w9 @ wft wwdE
ATRERT i Iuered R, frg 3 srfursr vt 76 & 17 feooft Hifvr |
(150 wregi & I &iforw)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

HIYh! T H, WRd | Wik & faehediehor 3 Sfifi-wm w weA-afgem #t fea dim
aeh gitafda feham 2 2 (150 weai # 3w i)

To what extent, in your opinion, has the decentralisation of powér in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

TSI |HT % HIG & &9 § YRA & U-Ugafa i firesr i foasmn Hifse |

(150 Sr&g ¥ 3R i)
Discuss the role of the Vice-President of India as the Chairman of the
Rajya Sabha. (Answer in 150 words)

T fUser ot S & wifafus fFem @ gdufies fem 3§ s #t o § @
T 39! qfieht i faaemr i | (150 wreai & 3w &fsm)
Discuss the role of the National Commission for Backward Classes_ in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

Tfd-2Ifeh AISHT ! FASTHAT & TET HI I A & oI G 3R st & & wen
ash qH-aT 6l HATEvIHAl 2 | fererem hifS | (150 wegl # I i)
The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7. T & wed # wwll wefusmiE it At i e wAgAEfiar & fa
oot sifter aifufim, 2016 Faw fafts cw@s 9t ® wmar & | feouofi
$ifse | (150 wrs2 ® IR i)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words) 10

Q8. U ATH ROl AT % HIETH H HLHHI YT qaEyT § YUR Uh Wifaeiel Hed 8,
fopmg saehl aroeft md oft # | feoaoft Hifse | (150 wegi § I §if)
Reforming the government delivery system through the Direct Benefit
Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words) 10

Q9. ‘“wrd Hfieieht w1 wwEl GOl i B |’ qdadi U & e § e % IdHE T |
i it Yfereer it fae=mn Fife | (150 wea) 7 I i)
‘India is an age-old friend of Sri Lanka.’ Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words) 10

Q10. 9% fo=m & w1 fegw® (BIMSTEC) d1% (SAARC) #l TE U FHMFIG §eT
2 239 39 & o9 1 GHHA R TEHHA § ? 39 AT TS % S IH 4
et fage Hfifd & 3gwa 8 T 8T R ? (150 Ysal H I 1)
Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation ?
: (Answer in 150 words) 10

Q11. & gfafifirea arfufem, 1951 % sr=arfa wag srean o= faue & wgwi & 9@
8 3 fqardi & faola it wfen &1 faa=m Hifve | o s = feedt Faffea
Hifya gearsht % frafem & s @ifva fean snoawar 2 2 3@ Fola & foeg difsa o
! HH-HT ITAR I9ey B 2 are fafmt o w=ed €S | (250 gl # 3w difS)
Discuss the procedures to decide the disputes arising out of the election of a
Member of the Parliament or State Legislature under The Representation of
the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.

+ (Answer in 250 words) 15
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Q12.

Q13.

Q14.

Q15.

le.

Q17.

g g faurht wifert % w@m R stavas wat @ e e | e %
T W@ fomr ToauTer grn srearew % yH e 6 dgar Y fad=mn Fif |
(250 &gt ® I Ffow)

Discuss the essential conditions for exercise of the legislative powers by the
Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature. (Answer in 250 words)

“ara # TP ueRfas 9w FEe & U A €, Sefe & @ rsu-wEa $
gy # |7 feoqoft Hifsw | (250 wregi # 3w i)

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

W iR i 3 e % Rt 8 ) Sh B o e SR |
(250 s © I dife)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

el ARG % IgHT & el A, YRA & Fafed s A e w1 fad=m
HIfT | (250 wsat & IR i)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

FHAHRI A1 & AAfafes Wi 1 @urs & dfed o ofit whet 6t Far F o
Herehifa 3 SR % oIt Jaue i Aavashdl & | ==i Hifrg |
(250 3rsqi # I ifsw)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

1 1Y 30 7a ¥ wewd 7 b foeemm 2q qran sifvepon @ sedt fofar famm ufsmn
¥ geie arfieil % Hawa i gt B 2 394 I & sifucy ) fiag Hifvm |

(250 wrsgi # IR )
Do you agree with the view that increasing dependence on donor -agencies for

development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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